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11 AR ERERFT AR

56, — BT ER [HMEERE (E5))

HR5E H = Hifi | %8 | %8 |%&5 | €8 |5 | £ ik
11A158|78yal)— 50 7 350 0 0 7 350
11198 (7 ayal— 50 10 500 0 0 10 500
118228 (78yal)— 50 16 800 0 0 16 800
118248 (JOyal)— 50 13 650 0 0 13 650
118268 |780val)— 50 11 550 0 0 11 550
118298 (7 ayal— 50 17 850 0 0 17 850
0 0 0
0 0 0
Joyal)— 50 74 3,700 0 0 74| 3,700
&t 74 3,700 0 0 74 3,700
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12 AR 5ERERFTAER

55, —MBMATER [HMR AR (E5))

HR5E H i B Hifi | %8 | %8 |¥&5 | €8 |5 | £ EE
12A18|7Ayal— 50 21| 1,050 0 0 21| 1,050
12A38 |[H+F GAR) 100 85| 8,500 75| 7,500 10| 1,000
12A7H |8 F¥ GAR) 100 62| 6,200 0 62| 6,200
12A8H |+ GA%) 100 73| 7,300 69| 6,900 4 400
12888 |7@yal)— 50 17 850 0 17 850
1298 |5 +F GA%) 100 73| 7,300 49| 4,900 24 2,400
128108 (7 8yal)— 50 19 950 10 500 9 450
128138 (7 ayal)— 50 18 900 0 18 900
12A148 |53 ¥ GAE) 100 56| 5,600 0 56| 5,600
12A 158 [BRF GAR) 100 49| 4,900 49| 4,900 0 0
128178 (7 8vyal)— 50 16 800 0 16 800
12178 (B ¥ GAR) 100 12| 1,200 0 12| 1,200
12B17H|[B8+¥ @RFE)|  100[ 113] 11,300 40| 4,000 73| 7,300
12H20H [B+F@RFE)| 100 37| 3,700 10{ 1,000 27| 2,700
12A21H|B+¥@RFE)|  100[ 139] 13,900 82| 8,200 57| 5,700
128228 (7 @yal)— 50 7 350 0 7 350
128228 |G FERHE) [ 100[ 281 28100 [ 249 24,900 32| 3,200
12A23H [B+F@RFE)| 100 9 900 0 9 900
128248 B+ ¥ (#BFE)|  100[ 159| 15,900 94| 9,400 65| 6,500
12A27H|[B8+F @RFE)| 100 13[ 1,300 0 13[ 1,300
0 0 0 0
Joyal)— 50 98| 4,900 10 500 88| 4,400
B2+ GAR) 100  410| 41,000 | 242| 24200| 168| 16,800
BX¥URE)|  100] 751| 75100 | 475 47,500 | 276| 27,600
&t 1,259 | 121,000 | 727 | 72,200 | 532 | 48,800




R3 ARIA

R (HPABAR) xlsx

1A 5RERFTTAER

56, — BT ER [HMEERE (E5))

HR5EH i B Hifi | %8 | %8 |¥&5 | €8 |5 | £ ke
1A78 (B8R GAH) 100  110| 11,000 50| 5,000 60| 6,000
TAB[ARFERFAE)[ 100 99| 9,900 80| 8,000 19[ 1,900
1A12B|BRF@R{FE)| 100 79| 7,900 30| 3,000 49| 4,900
1A13B[ARF@RfAFE)[ 100 34| 3,400 31| 3,100 3 300
1A14H|BRF@R{FE)| 100 73| 7,300 34| 3,400 39| 3,900
1A148 |5+ ¥ GAR) 100 17| 1,700 0 17] 1,700
1A17H|BRF¥@RFE)| 100 31| 3,100 1] 1,100 20| 2,000
1H18H|@&XURF=)| 100  127| 12,700 99| 9,900 28| 2,800
1A19B |BRF@R{FE)| 100 35| 3,500 15[ 1,500 20| 2,000
1208 [BRF@RfFE)[ 100 31] 3,100 20| 2,000 1] 1,100
18218 |a#XUR#%)| 100] 137| 13,700 | 105| 10,500 32| 3,200
1A218|E5+F GAR) 100 14] 1,400 0 14| 1400
1H24H|B¥#R{FZE)| 100 23| 2,300 3 300 20| 2,000
1H258 |@4#XRf=)| 100 183| 18,300 | 166| 16,600 17[ 1,700
1H26H|B¥@R{FE)| 100 72| 7,200 64| 6,400 8 800
1A278|aRrFX@R#AFE)[ 100 90| 9,000 76| 7,600 14| 1400
18288 |E4#XUR#Z)|  100] 170| 17,000 | 127| 12,700 43| 4,300
1A31B|ARFERfFE)[ 100 88| 8,800 72| 7,200 16] 1,600
0 0 0 0
B+ GAR) 100  141] 14,100 50| 5,000 91 9,100
B (dB4+E|  100] 1272] 127,200 |  933| 93,300 | 339 33,900
&t 1,413 141,300[ 983 98300 430 43,000
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2 A BRI AR
5%, —fikm+ERFE [$HAEBE RSE (E3])

85 B B | %8| 25 | 42| 248 | w=2| o@ =
2A1H |8+ F @RFE) 100 95 9,500 86 8,600 9 900
2A28 |B+¥ RFE) 100 141 14,100 109] 10,900 32 3,200
2A3H |B*¥ #RFE) 100 46 4,600 43 4,300 3 300
2H9H |B+¥ (RFE) 100 47 4,700 22 2,200 25 2,500
2H10H | B AB{FE) 100 49 4,900 45 4,500 4 400
0 0 0 0
0 0 0 0
B GRfEE) 100 378| 37,800 305| 30,500 13 7,300
£t 378 37,800 305 30,500 73 7,300

R3ESHBMEREE MR

Joyal)— 50 172 8,600 10 500 162 8,100

SEEIAGED) 100 551 55,100 292 29,200 259 25,900

BHARF AR E) 100f 2401] 240,100 [ 1713] 171,300 688 68,800




